

Name:

Klasse:

Datum:

Aufgabe 1. $(9 - 7)^2 * 9^2 + 9 + (-7 - 9) * (3 + 6) =$

Aufgabe 8. $(7 - 4) + (5 + 7) + 5^3 + (-3 * 4) + (6 : 3) =$

Aufgabe 2. $(9 - 9)^2 + 9 * 8 + (9 + 6) : (7 - 6) =$

Aufgabe 9. $(4 * 3) - (5 * 8) + 5^3 - (-8 + 4) * (5 * 4) =$

Aufgabe 3. $(2 * 5)^2 + 2 + 5 - (-5 - 4) - (3 + 9) =$

Aufgabe 10. $(6 - 8) + (8 * 9) + 8^2 + (6 - 9) + (3 * 7) =$

Aufgabe 4. $(8 * 4)^2 - 8 * 4 - (4 * 4) * (5 - 3) =$

Aufgabe 11. $(8 * 6) + (4 * 5) - 4^3 * (-3 - 9) - (8 * 3) =$

Aufgabe 5. $(2 - 5)^2 * 2 - 4 - (-5 * 8) + (4 + 5) =$

Aufgabe 12. $(9 + 8) + (9 + 7) * 9 + (-4 - 4) - (3 + 5) =$

Aufgabe 6. $(4 + 4)^3 + 4 + 2 - (4 + 5) * (3 + 9) =$

Aufgabe 13. $(5 - 4) * (9 + 2) + 9^3 - (-8 * 9) - (6 + 9) =$

Aufgabe 7. $(7 * 4) - 7^2 - 2 - (-4 - 8) + (8 * 9) =$

Aufgabe 14. $(2 - 9) + (3 - 7) - 3 - (-7 * 5) * (4 + 7) =$

Aufgabe 15. $(2 - 8)^3 + 5^2 * (5 + 5^2) - (4 * 7) =$

Aufgabe 22. $(4^2 * 9) * 4 + (-3 + 4) * (4 - 7) =$

Aufgabe 16. $(5 * 3) - 8 - (-8 - 8^2) * (2 + 8) =$

Aufgabe 23. $(3^3 - 4) + 3^2 * (-2 + 2) * (7 * 2) =$

Aufgabe 17. $(2 * 4)^2 * 2^3 + (-2 - 2) * (6 * 2) =$

Aufgabe 24. $(2^3 + 8) * 2^2 - (6 * 7) * (3 - 6) =$

Aufgabe 18. $(9 - 6)^2 - 9 - (9 - 9^3) * (5 : 5) =$

Aufgabe 25. $(5^3 + 5) - 5 * (-7 * 9) + (9 * 6) =$

Aufgabe 19. $(5 - 8)^2 - 7^2 - (-7 - 7^3) - (8 + 7) =$

Aufgabe 26. $(5 - 9) + 5^2 + (9 + 5) - (8 : 8) =$

Aufgabe 20. $(3 * 8) - 4 - (-4 * 4^3) - (2 - 9) =$

Aufgabe 27. $(9^2 + 3) + 9^3 - (5 + 6) + (5 + 3) =$

Aufgabe 21. $(4 + 5) - 5 - (5 - 5^2) * (5 * 4) =$

Aufgabe 28. $(5^2 + 3) * 5^2 - (-6 + 2) + (9 - 8) =$

Lösungen:

Aufgabe 1: 189
Aufgabe 2: 87
Aufgabe 3: 104
Aufgabe 4: 960
Aufgabe 5: 63
Aufgabe 6: 410
Aufgabe 7: 61
Aufgabe 8: 130
Aufgabe 9: 177
Aufgabe 10: 152
Aufgabe 11: 812
Aufgabe 12: 145
Aufgabe 13: 797
Aufgabe 14: 371
Aufgabe 15: 506
Aufgabe 16: 727
Aufgabe 17: 464
Aufgabe 18: 720
Aufgabe 19: 295
Aufgabe 20: 283
Aufgabe 21: 404
Aufgabe 22: 573
Aufgabe 23: 23
Aufgabe 24: 190
Aufgabe 25: 499
Aufgabe 26: 34
Aufgabe 27: 810
Aufgabe 28: 705